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N=0,+1+2.:-- f x> =x+1
(1) n fo=(CD"f
(2 n fh=ff+f |
B G, =f. u,v
C':'n+3 + Gn = 2(Gn+2 + Gn+1)
. O<a<b n
n+l n+l n n
a+b£n b™ - a EQ/a +b .
2 (b- a)(n+1) 2
m 2 m=2' xk t
k f(m) =t S, =a f(m

m=1
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D Sy

(2 n=2°(p ) S(n )
3 Nlesen
2
8. abc,j
f=e+h d
2

9. DABC S R D,E,F
BC,CA AB AD,BE,CF DABC

2S=R(EF + FD + DE)

10. f(x)=x*+ax’+bx+b (a,b) f(X)

11. (1) DABC AB,BC,CA
DFAB,DDBC,DEAC DD =DE=DF
AD, BE,CF
(2) DABC AB,BC,CA
ABFG,BCED,ACKH AD,BK P AE,CF Q BK,CF
R AR” PQ

12. (DI£EmMEN m,n

o .. : : _(n+DYn(n-D---(n- m+1)
ell(l- Di-2)---(i- m+= —~— _

(2Q1£r£n {1L2,---,n} r r



r 1EiEr t
i T(n,r,i) t

T(Nn,r,i)



